PLASTIC WALL MOUNT BRACKET INSTALLATION PRODUCT FEATURES

Attach the plastic wall mount bracket to the structure using the tapping screw (PLASTIC ANCHOR, PTS1 [ Light duty Plastic Wall Mount
M5x30L) as illustrated in the figure. The plastic wall mount bracket must be attached to a structure such as ® Maximum load 4.4 Ib [2.0 kg]
hardwood, wall stud, concrete or a suitable material capable of supporting the final mount assembly. The ®  Easy and safe to install
installer may need to change the method of mounting or hardware used depending on the wall material.
Use the supplied M4 tapping screws to align the wall mount bracket holes to dome housing holes. DOME HOUSING TYPE PER MOUNT HOLE
Select the camera dome model being installed. The “N” number corresponds to the mounting holes used.
> N.2 N.3 **  MOUNT HOLE NUMBER **
FIGURE-T S [FiGuRE-2 | \
S8 \ ) ,
M5 PLASTICANCHOR | - PLASTIC WALL MOUNT BRACKET BASE ~— N—
R CAMERA BOTTOM CASE
¥ N.4 N.5
M5 TAPPING SCREW W4 TAPPING SCREW 2o

Attach the template sheet to the wall.
Install the supplied M5x30L anchors

and MS tapping screws in noted hole Assemble the camera bottom case onto N.6
locations. . .
the wall mount bracket base using
supplied M4 screws. Use the mounting
holes noted in the figure that follows.
R, ST N.7 N.8
FIGURE3 FIRUREA. s < <
2 \Y
1) )
{h r 7 I\
‘e \‘\77 -/‘//
Wall bracket base
+ Dome camera
N.9
]
@
Align the two holes at the top of the s h ed 0 brack
wall mount with the M5 screws in the ecure the supplied mounting bracket
wall and slide entire assembly onto the cover. DIM ENSION (m m)
screws. Connect cables. i
145.5
: 85.7
* PLASTIC WALL MOUNT BRACKET PARTS LIST - T *ﬁ
NO PART NAME QTY DESCRIPTION U
1 PLASTIC WALL MOUNT BRACKET BASE 1 PC ABS
2 PLASTIC WALL MOUNT BRACKET COVER 1 PC ABS = ;
@ ~]
3 TAPPING SCREW 2 M5 X 30L I / I
4 TAPPING SCREW 3 M4 X 15L
5 | PLASTIC ANCHOR 2 M5 X 30L ! A A L L
6 TEMPLATE SHEET 1 - 177.0
7 MANUAL 1 -

50303758A

*NOT INVOLVED IN PRODUCT.



